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5t % et o Tt wea

Specific gravity of Kerosene is

(a) 0.82 (b)y 0.78

(c) 1.00 (d) 140

Y et H AT Fafing FEiE & A e

The residual chlorine content required in drinking water is

(a) 2ppm (b) 0.20 ppm
(c) 20 ppm (d) 200 ppm

ST R o TS R g o fere wrgega | fiee ofl 11 sy &

The arrangement fitted in a pipeline to overcome the effect of water hammer is

(a) T2/Gate (b) ;"gq,—.{ / Syphon

(¢) #e[E 3% / Surge tank (d) sisitERR / Ogee weir
BSP 9t & g WH HI 2

The angle across the planks of BSP thread is

(@ 55° (b) 65°

(c) 60° d) 54°

<2t e & 30 o1 3w BT

A threading die is used for

(a) T3yl H ¥l 92 e & fere / Cutting internal threads in pipes

(b) reai ® sra g& FeA & fAU / Cutting external threads in pipes

(c) @&t gfeat % 7d %W & feru / Fining the internal threads

(d) ey = S i =g 3R faféa #E / To assembling and dismantling pipes

e v it Agad et 2

Least count of a steel rule is

(a) 0.10mm (b) 0.01 mm
(c) 1.00 mm . (d) 1.00ecm
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10.

11.

12.

a1 o TRt o S

According to Bernoullis’ equation

(a) Z+PIW + V3/2g =k It/ ZHP/W + V?/2g = a constant
(b)  Z-PIW - V3/2g = s/t Z-P/W - V*/2g = a constant
(c) ZA+PIW - V?/2g = 1=t/ Z+P/W - Vv2/2g = a constant
(d) Z-P/W+ V*2g =1 3=/ Z-PIW+ V2/2g = a constant

NPS =1 fereror &1 87

What is the expansion of NPS?

(a) National pipe size (b)
(¢) Nominal pipe size (d)

HDPE qT2q %1 sfad -=lel, GHT=d: BT &
Life of HDPE pipe is normally

(a) 5 @ /years (b)
(c) 25 =¥ /years (d)
o Y (Pa) % ae g 2|

One Pascal (Pa) is equal to

(ay 1 N/m* (b)
(¢) 1N/em’ (d)

Normal pipe size
North American pipe size

10 /years
s0ad / years

1 Kg/em®
1 N/mm*

e 2.00 Hie s s se  FuE 2,00 Tz 1 21 5 Sl o w71 A T R
The quantity of water that can be stored in a tank of diameter 2.00 meter and water height 2.00 mtr

(a) 3140wt/ litres (b)
(c) 3540 e/ litres (d)
fir Tt =1 39T BT 8

Ring gauge is used for

(a) WIgREA (FH) % ¢ / Cutting pipes

(b) urgdi & gfeat Fet % forg / Threading pipes
(c) gyl =i Tafga Tt & feu / Marking pipes
(d) =fedihisia s e / Checking threads

2000 et / litres
4140 =fiet / litres
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13.

14.

15.

16.

i

18.

g et o o] wille ot srgwa i g

The permissible limit of total hardness of drinking water is

(a) 500 ppm (b) 1000 ppm

(¢) 300 ppm (d) 10 ppm

HITRIE: Ta AT Tehge o1 WA R ST 2

The most commonly used coagulant is

(a) e (fhesdt) / Alum (b)  #IfE / Chlorine

(c) weftfEmuraet / Bleaching powder (d) 1 /Lime

TR & WTH T s ed 8

The water obtained from a tubewell is called

(a) @aslsE / Surface water (b) 3u-"ael sl / Sub surface water

(c) #&SHI(HE-31%) / Run— off (d) TS / Potable water

af2 e %1 pH, ‘7' % SUCE, i o &

If the pH of water is above “7°, the water is

(a) el / Acidic (b) @ / Alkaline
(¢) #==| [ Neutral (dy =weia / Saltish
3 fere whifn frn sman 21

Screening is done for

(a) wHts i / Heating the water

(by it arfeete waH 3 / Providing oxygen to water
(c) weifera 319 varHt 1 FeeH / Removing suspended solids
(d) =i e / Removing bacteria

qug o e, i B 2

The capacity of pump is expressed in
(a) 999 2E /Suction head (b) it g2 / Delivery head
(¢) 9o 9fdfime / Revolution per minute  (d) @@t wfd fi=e / Litres per minute
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19.

20.

21.

22.

e &, Yeelia AT & stiia yare  afEfda g d

The velocity of which the flow changes from laminar flow to turbulent flow is

(a) guL-wifie 37 / Super-sonic velocity
(b) w=-HIfF AT / Sub-sonic velocity
(c) wgHaT / Velocity of approach

(d) ifas 3 / Critical velocity

SHUE T FETE 1 HH 8

The value of atmospheric pressure is

(a) 760 mm (b)  10.30 m of water

(¢) 103 KN/m* (d) 3w @t/ All of these
o S 1 v Ry, e 8 e e R

The frictional resistance of a pipe varies ——————of ﬂ'-lﬁ liquid.

(a) &1 "arETdl / Proportional to velocity

(b) 7% 9 % FAIIE! / Proportional to cube of velocity
(c) % @ % wwrurdt / Proportional to square of velocity
(d) @ EHE9E! / Proportional to the pressure

1R 1 S

Rusting of Iron is

(a) w8 =1 A [ Reduction of Iron

(b) wRH sfa=or / Oxidation of Iron

(c) wira @ Fe / Heating of Iron

(d) e = 3fta ®9Eed [ Thermal decomposition of Iron

g 3l b’ % uTed & ary e i iR
Perimeter of a rectangle with sides ‘a’ and ‘b’ is
(a) axbh (b) 2xaxbh
(c) 2x(a+b) - (d) a+b
6
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24.

25.

26.

27.

28.

29.

17 el (AEie) 1 el el 19T 3aah a1 AT 3 S e 37N e o e ST 8

The sloped floor of a manhole or inspection chamber on both sides and channel 1s called
(a) @f=T /Benching (b) w@ifkz / Soffit
(c) dfEm /Bedding (d) %= /Invert

o0 3 3y are Pt 8 = e ared, S el F e w1 G Td 8, Heed

The pipe installed in the house drainage to preserve the water seal 1s

(a) 9= 99 / Waste pipe (b) Higa 9Ed / Soil pipe
(c) #®a-Udl / Anti siphon (d) ==Y / Vent pipe
el T ohl W R S 2

The flushing tanks are provided at the

(a) Tl Fat AT f5g / Beginning point of the sewer
(b) et sHay i 23fom i1 folg / Ending point of the sewer
(c) et =yaen $iwen fag / Middle point of the sewer

(d) el =qEe F W8 / Joints of the sewer

o2 e saaea & fon, v et o ve s we & fo e g e A
ferifrer ) st &

The self-cleaning velocity recommend for sewer line in Indian condition for large sewers is

(a) 0.25mfs (b) 0.50m/s
(¢) 1.50mfs (d) 0.75m/s
e Afew 3w

A septic tank is a

(a) FHTEA €% / Sedimentation tank

(b) 3vEETed it TEa; e 3% F1 HdleF / Combination of sedimentation and digestion tank
() ®meEF /Collection tank

(d) aH &F / Aeration tank

qftagor-ars s fmfor g 2

Dispersion trench is constructed

(a) Wi 3% 8 Fepet P %1 @ % fT / To receive the effluent from septic tank
(b) setarg verd &I fae % T / Removing suspended solids

(c) =t o % faT / For filteration of water

(d) 3w Esft / All the above
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- 30.

31.

32.

33.

34.

3s.

eretel o1 W faRa1 g 3w foma s @

The sewage is treated by Aerobic action in
(a) TurEdd / Settling tank (b) afEFwzHiH / Sceptic tank
(c) wadieEuZhid / Oxidation pond (d) o Edt / All the above

FI9-aATbH i =1, HHE: 2t 2

The fixing height of wash basis normally

(a) 100cm (b) 120em
(c) 60cm (dy 80cm

el req e 1 3w @ At & Dot o o e e &

The valve used for preventing the buildup of back pressure in a pipe line is

(a) =ared /Check valve (b) Trzared /Gate valve

(c) wiaared / Globe valve (d) weeaed / Float valve

o % Hefelel o el % Hersid § S8 8 3 a1 AT o e 21

The trap used to connect the house sewer to street sewer is

(a) 72" / Gully trap (b) ATErt 29 / Nahani trap

(c) P-29 /P-trap (d) @@ / Intersepting trap
G| T3 1 G g, W A d 7 A 2

Test pressure of GI pipe is —————— time the working pressure

(a) 1%70 /times (b) 27O /times

(¢) 2%TEm /times (d) 37T /times

us 8.00 m wwft, 1.20 m =T 31T 10 cm A gz Frato % f s fam Fishe e

Quantity of cement concrete required to make a footpath of length 8.00 m width 1.20 m and
thickness 10 cm

(a) 96m’ ®b) 9.60m’
(c) 0.96m’ (d) 10.6m’

syt o, et ofie sid o) Sad iR e 1 SguTE @
The ratio of height to length of an arrow head in dimensioning is

(@ 1:2 (b) 1:3
() 14 : (d) 1:1.50

8§ 708 TE(P)
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39.

41.

42.

43.

iz EaRCTER]

‘Poise’ 1s the unit of

(a) @ @9 / Surface tension (b) FedsA / Discharge
(c) wfeeig™ / Shear stress (d) wEFar / Viscosity
10Kg/cm? PVC U159 Soft =61 171 1 shig @
Colour code for PVC pipe class 10Kg/cm® is
(a) 91 /Brown (b) B0 /Green
(c) e /Blue (d) e /Red
P1, P2 3t P3 1 affartor 2
P1, P2 and P3 are the classification of
(a) HDPE4®EY /HDPE pipe (b) ACHEY /AC pipes
(¢) D149 /DI pipes (d) =iz 13T / Concrete pipe
Gl gy % fig IS?
The IS followed for GI pipe is
(a) IS 800 (b) 15456
(c) 151239 (d) IS 1387
TEmIE (L) uEg T & i o
Stoneware pipes are available in length of
(a) 1.00 mtr (b) 2.00 mtr
(c) 60cm (d) 15m
Tiférd 99 et 1 BOD #
BOD of safe drinking water is
(@ O (b) 10
) 5 (d) 50
e o WTHI FTAeH % g Fettfe =t T = wEn foRan w2
The amount of chlorine used for plain chlorination of water is
(a) 0.20 ppm (b) 0.30 ppm
(c) 0.40 ppm (d) 0.50 ppm
9 708 TE(P)
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45.

46.

47.

48.

e =1 arerft ariea 1 aufeerfy 3 = e 8l

Temporary hardness of water is caused due to the presence of

(a) @=rrse / Chlorides (b) F2T /Nitrates
(c) e / Carbonates (d) @ehe / Sulphates
ACME <& %175 &I 2|

What is the angle of an ACME Thread?

(a) 60° (b) 55°

(c) 30° (d) 29°

gaaTerd s Befia a1 3T e o aTEaT = HreA § fRar = w2
Hydraulic bending machine can be used to bend pipes upto

(a) 200 mm (b) 100 mm

() 75mm (d) 50 mm

[T 1 o feg et 1 g o Smar 21

The file used for general purpose is

(a) @i /Rough file (b) st / Smooth file
(c) Taudtidt / Flat file (d) ke et / Single cut file
us gy i wrefipr i savEsal el e

Priming of a pump is not essentially required
(a) e, FH e R et o § i e e

When centrifugal pumps are installed below the water level

(b)) T, ST e ) STl R S S S S @/

When centrifugal pumps are installed above the water level
(¢) (a) 3 (b)3Hi/ Both (a) and (b)
(d) 3IWrwHA®EFE / None of the above

10
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51.

52.

53.

54.

n
N

U Tl haiagelel 8

A Clarifloculator is a

(a) HTEW FHEA 3905 / Plane sedimentation unit

(b) 14 5918 / Aeration unit

(c) Theq 3N 1aEme 3@ / Coagulation and sedimentation unit
(d) Treres® (@) 3 / Filter unit

et ferercor woeft fergrer stet aife Wil S 21
Water losses in water distribution system are assumed as

(@) 25% (b)  7.50%
() 5% (d) 15%

Frefafias & fras 3w, st FeieeH-tea e F fon R smr ?
Which of the following is used for dechlorination of water?

(a) TeF-EE-3FEES / Sulphur dioxide (b) #UAA / Chloramine

(c) wefifemmuraet / Bleaching power (d) e eré-araEEe / Carbon dioxide
FETEn Al wree w5 geE Frepret # g 81

Activated carbon is used in water treatment for removing

(@ U1 /Colour (b) ig@n / Turbidity

(c) ¥amE 3y / Taste and odour (d) I adt / All the above
w1 Wh ST Tl o M I FHEd ¢

The water tap used in house connection is known as

(a) %397 /Sluice tap (b) =M =E /Stop cock

(c) Tem =% /Bib cock (d) %= /Ferrule

pH = 3 I 5@ pH = 5 & a1 fohar siran 2 dt Tt Sferes STt B

pH = 3, when compared to pH=5 will be more acidic by

(a) 279 /2 times (b) 207Om /20 times

(c) 10079W /100 times (d) s a=Ead / None of these

st Tz e, forait gt 3 g wnfiver 1 #ed €

The method of refuse disposal, involving burial in trenches is called

(a) W& / Incineration (b) eEESITH / Pulverisation
(¢) =ifEn /Composting (d) 37ireH A% 7E / None of the these

11 ' 708 TE(P)
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60.

61.

e § & T St 1 A i i s @

The process of Killing Pathogenic Bacteria’s from water is called
(a) @1=EEd [ Sedimentation (b) TmUEEE / Disinfection

(c) =49 /Filtration (d) =& [/ Aeration

600 mm & 1 SITE o Wel SAaEATal % T, ar Sl W E

For sewers of diameter less that 600 mm, the type of joints preferred is
(a) e «iIg / Collar joint

(b) Avg= g /Bandage joint

(c) forme sfvwmeke st / Spigot and socket joint

(d) wifes &g / Mechanical joint

T Tl 1 HaE A ©

Surface area of a sphere 1s

(a) 13w’ (b) 43w
(¢) 4nr’ (d) dmr

T 25 cm x 12 cm x18 cm % Tea B, T <1 Gk a1l it i stk B @

The maximum radius of a sphere that can be kept in a box of size 25 cm x 12 cm x18 cm 1s

(a) 12.50cm (b) 6cm
(c) 9em (d) 12cm
0.16 =1 =71 e IR 2

Square root of 0.16 is equal to

(a) 4 (b) 0.40
(c) 0.04 (d) 0.004

a1 Foreror worreht forersd et wsh e SATgfd @ g1t 2, el &

The distribution system having only one main supply line is called

(a) frgwoneft / Grid system (b) Fmgmelt /Ring system
(c) Fr=efimyomeft / Radial system (d) Fiwome / Tree system
12

708 TE(P)



62.

63.

66.

67.

68.

U= AR g w1 =EaH =Y BT

The minimum diameter of a circular manhole is

(a) 1000 mm (b)y 1200 mm
(c) 1500 mm (d) 2000 mm

T T~ el 8 g o "er o) g Hi-aTe I 8

The device used to measure the rate of flow in pipe line 1s

(a) Wew 2% /Flush hydrant (b) & 2%= / Post hydrant
(c) d=lidiEt / Venturi meter (d)  FfE / Bushings
s g 241 & Praverarch |

The gas coming out from a sludge digestion tank is

(a) “Hae HEE / Methane only

(b) ae HrET-gE-3EEEE / Carbon dioxide only

(c)  70% i 3i 30% sreia—2rg- Hamgs / 70% methane and 30% carbon dioxide
(d)  30% e 30 70% FeT-srE-HiaaEe /30% methane and 70% carbon dioxide

HAfarfiTo qrere H wEA i aEt 2

The detention period in an oxidation pond is of the order of
(a) 24-3692 /hrs (b) 2-4 %A /days
(c) 1-2%R /weeks (d) 2-67F /weeks

2.00 Hiet =+ =g 3 1,00 et S=rd % 2 ol qwan @
Capacity of tank having internal diameter 2.00 mtrs and height 1.00mtrs is a

(a) 3140 ltrs (b) 2140 ltrs

(c) 1570 ltrs (d) 3000 ltrs

S| worreft # g <t 39S B

Unit of pressure in SI system is

(a) PSI (b) Kgflem®

(¢) Kgfm’ (d) N/m?

Sl WTEdl S el i AT & el T |

Internal pipe threads of usually cut with

(a) 9EYTE /Pipe taps (b) =9 /Chain Vice

(c) T=z#F /Ratchet braze (d) =582 /Dieset

13 ' 708 TE(P)
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T0.

71.

72.

73.

74.

-

ey fereher Wi =1 JaTet 8
Example for attached growth process is

(a) afde Zeft / Septic tank (b) =@ @A / Pressure filter
(c) FefFam @ / Trickling filter (d) IfearE @ / Rapid sand filter
e Argf et 1 T Feeld &
The inlet of a venturi meter 18 known as
(a) sty ¥ / Convergent cone (b) g 9% [ Divergent cone
(¢c) 4t /Throat (d)y FWEFHEAE / None of these
o 3 ST &ife wrefiaREor g T s 2|
Loss due to friction is given by the equation

4 v 2
@ 2 ®

2gd 2gd

4 4 v
(c) Eﬂ“' (d) ﬂ-rv1

gd 2gd

i & Tt sl =i PR i ITER g
The treatment for removing permanent hardness of water is
(a) UMYEREH / Disinfection (b) @ / Filtration
(c) @iz gl / Lime soda process (d) e / Coagulation
gaq 2aa] soie 1 e @
Pitch of a fine hacksaw blade is
(a) 0.8 mm (b) 14 mm
(c) 1.Bmm (d) 1mm

Gl W 2 20 n.b. 15 I IR &
Weight of GI medium grade pipe 20 n.b. is

(a) 1.21kg/m (b) 1.59 kg/m
(¢) 2.46kg/m (d) 3kg/m
rBrean hatt S ¥ o 6 wadt Sawd &

Surface area of a cylinder having radius » and height A 1s

(@) 2m’h (b)  2m(r+h)
() a’h &) m(r+h)

14 708 TE(P)



